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Download:

http://cran.utstat.utoronto.ca/

or — link from U of T Library with R Guide

https://mdl.library.utoronto.ca/technology/tutorials/r-guide-and-download

8.55 (in R)

>
X=c(6.72,6.77,6.82,6.70,6.78,6.70,6.62,6.75,6.66,6.66,6.64,6.76,6.73,6.80,6.72,6.76,6.76,6.68,6.66,6.62,
6.72,6.76,6.70,6.78,6.76,6.67,6.70,6.72,6.74,6.81,6.79,6.78,6.66,6.76,6.76,6.72)

> qqnorm(X)
>qqline(X)

Out:

Normal Q-Q Plot

6.70 675 6.80

Sample Quantiles

6.65

Thearetical Quantiles

The data appear to be normally distributed.


http://cran.utstat.utoronto.ca/
https://mdl.library.utoronto.ca/technology/tutorials/r-guide-and-download

